TR0

VS GRS

i) 114 LEJTI 3] ES]
RS [ MRS A (A) PHEERS (A)

A {HIE -1 I /IME~ IR n/n -1 It /IME~ IR n/n 125 I /M~ SR m/n
pH 7.6 7.5 ~ 7.8] 0/ 4 7.3 7.2 ~ 7.6] 0/ 4 7.2 7.0 ~ 7.3 0/ 6
DO (mg/1) 11 10 ~ 12| 0/ 4 10 9.4 ~ 13| 0/ 4 11 10 ~ 14 0/ 6
BOD (mg/1) 0.5 < 0.5 0/ 4] < 0.5 < 0.5 0/ 4] < 0.5 < 0.5 0/ 6
BOD (TFEE:75%) | < 0.5 < 0.5 < 0.5

AR E G ggp (mg/1) 0.9 0.7 ~ 15| 0/ 4 .2 11~ 1.3 0/ 4 1.1 0.5 ~ 1.7 0/ 6
SS (mg/1) 1] < 1~ 2| 0/ 4 7 2~ 19| 0/ 4 9 1~ 33 1/ 6
KB (MPN/100m1) 4. 0E03 7.0E02 ~ 7.0E03] 3/ 4 7. 6E02 2.3E01 ~ 1.7E03| 2/ 4 1. 4E03 2. 3802 ~ 4.9803[ 3/ 6
n —~F 4 B (mg/1)
et (mg/1) 0.08f < 0.05 ~ 0.17[ 2/ 4 0.34 0.14 ~ 0.74[ 4/ 4 0.34 0.08 ~ 0.78) 6/ 6
4 (mg/1) 0.007] < 0.003 ~ 0.012| 3/ 4 0.022 0.007 ~ 0.061 4/ 4 0.015 0.003 ~ 0.048] 5/ 6
7 (mg/1) < 0.0003 <€0. 0003 0/ 1
= (mg/1) ND ND 0/ 1
E) (mg/1) < 0.005 < 0.005 0/ 1| < 0.005 < 0.005 0/ 4
X VA=PN (mg/1) < 0.02 < 0.02 0/ 1
=S (mg/1) < 0.005 < 0.005 0/ 1
KR (mg/1) < 0.0005 <0. 0005 0/ 1
TV L KGR (mg/1)

PCB (mg/1) ND ND 0/ 1
vomu ALy (mg/1) < 0,002 < 0.002 0/ 1
7S (mg/1) < 0.0002 <0. 0002 0/ 1
1, 2—-Yrmuxyy (mg/1) < 0.0004 <€0. 0004 0/ 1
1, 1-Y7upxFL v (mg/1) <0.002 < 0.002 0/ 1
YA—1, 2-YrunxFL (mg/1) < 0.004 < 0.004 0/ 1
e R 1, 1, 1—-hYyrmrxyy (mg/1) < 0.0005 <0. 0005 0/ 1
1, 1, 2—hYsmrxyy (mg/1) < 0.0006 <0. 0006 0/ 1
F)rpRrEFL (mg/1) < 0.002 < 0.002 0/ 1
FhIrmnTFLY (mg/1) < 0.0005 <€0. 0005 0/ 1
1, 3—Yrur7sa~y (mg/1) < 0.0002 <0. 0002 0/ 1
FUI L (mg/1) < 0.0006 <€0. 0006 0/ 1
vy (mg/1) < 0.0003 <0. 0003 0/ 1
FF N NT (mg/1) < 0,002 <0.002 0/ 1
NPy (mg/1) < 0.001 < 0.001 0/ 1
L (mg/1) < 0.002 < 0.002 0/ 1
AL 28R R OV IR AR 22 (mg/1) 0. 06 0.06 0/ 1
A 22 (mg/1) < 0.002 0/ 1
o (mg/1) < 0.08 < 0.08 0/ 1
EPES (mg/1) < 0. 02 < 0.02 0/ 1
1, 4—UFFyv (mg/1) < 0.005 < 0.005 0/ 1
et (mg/1) 0. 0020 0.0010 ~ 0.0040 0/ 4 0. 0057 0.0020 ~ 0.015[ 0/ 6
KAEEYIEEER (/)= T > ) —1 (mg/1)| < 0.00006 <.00006 0/ 4 < 0.00006 <.00006 0/ 4
LAS (mg/1) [ 0.00080] < 0.00060 ~ 0.0014| 0/ 4 0.00085| < 0.00060 ~ 0.0016] 0/ 4
7w a Rl bk (mg/1) < 0.006 0/ 2 < 0.006 0/ 2
7z ) —/* (mg/1) < 0.001 0/ 2 < 0.001 0/ 2

KA Ay ST RIVLAT VT e R (mg/1) < 0.03 0o/ 2 < 0.03 0/ 2
A=t —FIFNT =)= (mg/1) [ < 0.00007 <.00007 0/ 2 < 0.00007 <.00007 0/ 2
7= (mg/1) [ < 0.002 <0.002 0/ 2 < 0.002 < 0.002 0/ 2
2, 4—Yr/unrx)—) (mg/D)| < 0.0003 <0. 0003 0/ 2 < 0.0003 <0. 0003 0/ 2
VRN (mg/1) < 0.006 0/ 2 < 0.006 0/ 2
FFLA—1, 2—YymRpTFLL (mng/1) < 0.004 0/ 1
1, 2—Yrmunrsunxy (mg/1) < 0.006 0/ 1
p—YrZrup By (mg/1) < 0.03 0/ 1

(mng/1) <0. 0008 0/ 1

(mng/1) <0. 0005 0/ 1

(mng/1) <0. 0003 0/ 1

(mng/1) < 0.004 0/ 1

(mng/1) < 0.004 0/ 1

(mng/1) < 0.004 0/ 1

A=R= (mg/1) <€0. 0008 0/ 1

EPN (mg/1) <€0. 0006 0/ 1

SR ;7ugﬁx§nnvp) (mg/1) < 0.001 0/ 1

T ) THNT (BPMC) (mg/1) < 0.002 0/ 1

A 7Fa_rkA (1 BP) (mg/1) <0. 0008 0/ 1

sup=hr7=zr (CNP) * (mg/1) <0. 0005 0/ 1

hzy (mg/1) < 0.06 0/ 1

E A (mg/1) < 0.04 0/ 1

THNEEYTFL~F L (mg/1) < 0.006 0/ 1

=% (mg/1) < 0.001 0/ 1

Y TFL (mng/1) < 0.007 0/ 1

TUFE (mng/1) <0. 0002 0/ 1

Hifte=n€ /) ~v— (mg/1) <€0. 0002 0/

TEsumrk Ry (ug/l) < 0.04 0/ 1

e (mg/1) 0.02 0/ 2

s (mng/1) <0. 0002 0/ 1
7 = ) — )V (mg/1)
i« (mg/1)
Bk (afiRtt) * (mg/1)
~ Y (HREE) * (mg/1)
e (mng/1)
T =T (mg/1)
ATHEEE (mg/1)
ZOMIEH ALY CEEIEY vx (mg/1)
(mg/1)

() < 1 0/ 4 12 1~ 41| 5/ 6

(ms/m) 1.9 1.0 ~ 5.9 4/ 4 3.4 2.3 ~ 1.2] 4/ 4 1.7 3.8 ~ 5.3 6/ 6
(mg/1)

snan7 4)bax (ng/l) 3 1~ 3l 1/ 2 2 1~ 2l 1/ 2

S AABVER GRS (#/100m1) 2 2 0/ 2

(A A ST P«

(mg/1)




